Laws of Exponents/Indices

1. Multiplying powers with same base

am X gh = gm+n

Slmilarly, (a/b)m x (a/b)n — (a/b)mHJ

2. Dividing powers with the same base

am + ah = gm/ah = "™

3. Power of a power

(am)n:am XN — gmn

4. Multiplying powers with the same exponents
am X pm = (ab)m

5. Negative Exponents

1

E“,"l

6. Power with exponent zero
a’ =1

Similarly, (a/b)? = 1




Example

a"x a =a™" | 2° x 2° = 2°
a’“—a"=a““".57+ 5° =54_
(@a™)"= g™ " | (10°)7 = 102
a'=a [17'=17
2= 1 ' 34°= 1
‘a\" a™ |[(5)_25
b) " |l6) 36

1 1
a’"=§ _ 92=a




&y~ Powers of Ten *’3{?
mm

_
10 ]10x 10
10° ]10x10x 10

10,000
100000




Power Table from 1 to 10

21 =2 31=3 H=4¢
22 =4 3¥=9 2i =16
=8 3° =27 1’ = 64
24=16 34 =81 44 =256
2° =32 37 =243

20 =64 3¢ =729

2" =128

2% =256

27 = 512

210 = 1024

=1 g!l=8 9l=9
7% =49 8¢ =64 94 =81
77 =343 8° =512 9° =729




SCIENTIFIC NOTATION PROBLEMS

FIRST DIGIT ISKNOWNAS 892724 () MOVING TO THE LEFT
LEADING DIGIT NAALS EXPONENT IS POSITIVE

8.224 x 103

400,9900

4 x 10°




:" 0.00028 MOVING TO THE RIGHT

ZERO CAN'T BECOME CAANT EXPONENT IS NEGATIVE
LEADING DIGIT 2 8x10%

1 Look For THE 00000214 Kg =) MovE TO LEFT
LEADNG DIGT 5 14 10-5 Ke EXP. POSITIVE

DECMAL PONT (4 RULES) /) MOVE TO RGHT
TOLEFT OR RIGHT 5 EXP. NEGATIVE




Exponents: Practice Test3 | qws Anil Kumar
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Answer key

. . . Mixed: ES1
- @tandard and Scientific NotatlonS . N
Express each number in scientific notation.
1) 0.0056 = 56x107° 2) 24,010 = 2.401x10*
3) 4,085 = 4,085x10° 4) 0.017 = 1.7x1072
5) 0.000796 = 7.96x10™ 6) 952 = 9.52 % 10%
7) 50,413 = 5.0413x10* 8) 0.004 = 4%10°
Express each number in standard notation.
9) 2445x10° = 2,445 10) 1.04x10™" = 0.000104
11) 9.165x 107 = 0.09165 12) 5962x10° = 5,962
13) 2.2x10° = 0.000022 14) 3.12x107 = 0.312
15) 8.0447 x10* = 80, 447 16) 1.278x10* = 127.8



